Id 1

Question |\ gy &Y =g &1 T HIfTT|
E)

A ERT: + 37

B e + 3

C eRT + S

D ERT + 39U

Answer B

Id 2

Question | frAfaf@d ersel & & carcg THIT foh Usg 7 § 2

A qTg-quy

B SEES

C el gdror
D %raia?r
Answer |A

Id 3

Question |fapq ersg & ‘31T 3UF T IYAT fohaT araT § 2

A 3ATTSTh

B AR
C RiGIE
D R GEGE

Answer D




Id
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Question gxiardY ereg FT TIA HIfAT -
3T

A g;@'

B AT

C JhR

D GIEC)

Answer A

Id 5

Question | faater 2rse / TATards 2reg -
IGESSIES

A g

o]

C g&H

D g

Answer D




Id 6
Question rafaf@d wree-gor & A& 3d-9g &1 I3t v -
SAH ¥ 9IET hg 37T I TFd sl HLAT 87

A Ty

B aToT

C feet

D TN

Answer B

Id 7

Question | frfaf@a & ¥ T8 ee-efer T Yora AT

A qdrsar

B garfsg
C QrcTfeg
D SRIEAS

Answer |D




Id
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Question

Afof@a ag & foIT 398 A fU 3T Aeedr # @ 399 R

o Rifcga AIfFT -
3T 3 3ehel oTgl @l el gl
A FaT
B HHATg
C HTg-areg
D 51 & HIg oTel
Answer C
Id 9
Question grerrer & foT Teh A1 AT -
S a9 o o 8l
A siferaeT
B IGRUEGL]
C EE)
D FAGR
Answer A




Id 10

Question |frgr arerr & R sqderrel & a8 B

A 9§ 9 Y& |
B 38T 9ars ST AT
C dg 9cel arell Tl

D 391 gels X o AT

Answer C




ID 11 & 12

Question Type Comprehension

Main Text In each of the following questions find out the alternative which
will replace the questions mark.
A QU T g g A & IoA & ¥ ¥ | [ g
oA & Sl 9T A Ueh HFeeY oA I § qUr gE oA
&I Uh Ug ofcd & 6 7 faevedl & @ a8 fasved gfad
ST @Y JIH & Ye § A =Y TG 8 |

Question Dictionary: Definition : : ?: Map
QECHIA : GRHATST : ; ?2: AR

A Atlas

B South
gfaor

C Direction
feem

D Longitude
SR

Answer A

Question Mechanic : Garage : : Professor : ?
Hohfoldh @ IRTST ;1 AHIA : ?

A Shop

B College
hlotol

C Station
AT

D Hospital

3TEqdTel




Answer B

Id 13

Question |Introducing a man to her husband, a woman said, “His brother’s father is the
only son of my grandfather.” How is woman related to this man?
e ofd & U AP & aR F a1 AW gU IR Feh ¢, IHh
H1S o1 AT AR e T THA 97 & |39 3R & 39 Jidd @
FIT FeT 8?2

A Mother
Al

B Aunt
3T

C Sister
g8

D Daughter
T

Answer |C




Id
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Question |A girl introduced a boy as the son of the daughter of the father of her uncle.
How is boy is related to the girl?
U TSH Th a5ch P A FAURT FHIA §U Pecll & Ig 38 Il &
fOar & 9 &1 9T & |39 FSh HT 3H oShl @ T FoeeH g2
A Cousin
THORT ST
B Son
kS
C Uncle
drdr
D Nephew
ST
Answer A
Id 15
Question |If Komal says, “Ravi’s mother is the only daughter of my mother”. How is
Komal related to Ravi?
Iie AT Hgar g o "W &1 A i vhaAT G g7 |l FA A
M & Far geaey g2
A Grandfather
alar
B Maternal uncle
HIHT
C Father
e
D Brother
IS
Answer |B




ID 16-17

Question Type Comprehension

Main Text In each of the following questions, four words have been given out
of which three are alike in same manner, while the fourth one is
different. Choose out the different one.
A & 1 g& T H IR Ueg 6 I § S ¥ e
Afaa % & gaa & 59 F dter a7 O @ 8] @
reg AT RIS |

Question Choose the different word from the following.
e & @ @t s gAY |

A Semicircle

B Semi-final

C Seminar

D Semicolon

Answer C

Question Choose the different word from the following.
et & @ e s giad |

A Mosquito
HT

B Butterfly
IGGEII

C Spider
Hehsl

D Housefly

HqFdr




Answer

Id 18

Question |In a certain code, ‘SWITCH? is written as “TVJSDG’, which word would be
written as ‘CQFZE’?
Teh e HW H FfE ‘SWITCH & “TVISDG’ for@r Sirar g & 34T
% HINT # ‘CQFZE & %8 for@r Sem?

A BARED

B BRAED

C BREAD

D BRADE

Answer |C

Id 19

Question |In a certain code, “MIND’ is written as ‘KGLB’ and ‘ARGUE’ written as
‘YPESC’, then how will be ‘DIAGRAM’ written is that code?
Teh ¢ AN H ‘MIND’ &I ‘KGLB’ fr@r Sirar § d2r ‘ARGUE’ &I
‘YPESC’ for@r Sirdr & of 381 & 8T & ‘DIAGRAM’ I & forar
SITAITT?

A BGYEPYK

B BGYPYEK

C GLPEYKB

D LKBGYPK

Answer A




Id
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Question

If in a certain code. LUTE is written MUTE and FATE is written as GATE,
then how will BLUE be written in that code?

gfe e AT I AT H LUTE S MUTE for@r § dr FATE st
GATE for@r S1ar & ar 337 i #ST H BLUE &l & for@r Jrem?

CLUE

GLUE

FLUE

OO w >

SLUE

Answer

A




ID 21-22

Question Type Comprehension

Main Text In each of the following questions a number series is given with one
tern missing. Choose the correct alternative that will continue the
same pattern and fill in the blank spaces.
A R I yAw U F U Ao & AT § owd v ug
I § | o Rpedt F ¥ 3@ W Rwew F1 g S &
AT AU T HTEIOT HcT 8 |

Question 198,194, 185, 169,......7 .......

A 144

B 128

C 96

D 116

Answer A

Question 34,33,49,74, .....7 ........

A 108

B 110

C 96

D 98

Answer B




ID
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Question Type Comprehension

Main Text Study the following information carefully and answer the question
given below.
A,B,C,D, E, F G, Hand K are sitting around a circular table facing
centre. B is fourth to the left of G, who is second to the right of C. F
is fourth to the right of C and second to the left of K. A is fourth of
to the right of K. D is not immediate neighbour of either K or B. H
is third to the right of E.
A & A AFEN A eAEgde afed Jur o R ueat
& 3N GIfed | A,B,C,D,E,F,G,H dar K Teh 3Tl AT & TIRY
R dhog T AR Hg A §S § B, G H aw =ar g & C
A U & | F,C & g diur § auT K & a0 & ¢ |
AK S Aar § | D, aAT df K &1 93T g 3R a1 & B &l
| HE & g dERT & |

Question Who is the fourth to the left of E?
E & &0 Tir &l g?

A A

B C

C G

D K

Answer A

Question Who is second to the right of K?
K & & gl s §7?

A C

B H

C F




D E

Answer B

Id 25

Question |Arrange the words given below in a meaningful sequence.
1. Delivery 2. Envelope 3. Letter 4. Post-Box 5. Clearance
ST G I Ul Uk ATH HA H qARTd DY |
¢. [T 2. 9w 3. 93 ¥ 9k 4. [T

A 4,1, 3, 2,5

B 2, 3,4,5 1

C 3,2, 45,1

D 4,2, 3,1 5

Answer |B

Id 26

Question | In the following, pick out the correct meaning of the following idioms:
Beat around the bush

A Avoid coming to the point

B Run away

C Deduce from the facts

D Likely to happen soon

Answer

A




Id
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Question

Select the correct or preferred spelling for each of these commonly
misspelled words
Which of the following spellings is preferred in American English?

A acknowledgement

B acknowlegment

C acknowlegement

D acknowledgment

Answer D

Id 28

Question |In the following questions, you have brief passages. Read the passages
carefully and choose the best answer to each question out of the four
alternatives.
Indian airlines had no positive response to the incident occurred in the failure
of aeroplane engine.It was 1989 ,Indian airline B059 got crashed in the
middle of the Indian ocean,205 passengers were died. There were no clues
about the B059 , some says that it got crashed but some said it got
lost.Passengers relative were worried about their dear ones. Government
decleared the issue of B059 as a priority,Indian navy were given
responsibility to find the BO59 but nothing was found .After a year some
fishermen found the black box of B059, which confirms about the crash of
Indian aeroplane B059 due to engine failure.
Who got the responsibility to find out clues about B059?

A Indian Coastal Guard.

B Indian Navy.

C Indian Army.

D Indian Air Force.

Answer

B




Id
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Question

In each of the following sentence, an idiomatic expression or a proverb.
Select the alternatives which best describes its use in the sentence.
The team put their plan into execution the very next day.

A Proposed a plan

B Discussed their plan

C Started thinking about a plan

D Started carrying out their plan

Answer D

Id 30

Question |Choose the world which is most nearly the same in meaning of the word.
Exquisite

A Expensive

B Delicate

C Elaborate

D Wonderful

Answer D

Id 31

Question |Each sentence below has a blank and each blank indicates that something has
been omitted. Choose the word that best fits in meaning of the sentence as a
whole.
Jacob was a rich old man who lived___ alone in a huge house because his
children did not care about him.

A Only

B All

C more

D too

Answer |B




Id
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Question

In the following questions, change the Statements given in Direct Speech
form into Indirect Speech or vice versa, with the help of given four options

(A).(B).(C),(D).

Maya Said to him, “You can do this work.”

A Maya told him that he could do that work.

B Maya told him that he could do this work.

C Maya told him that he can do that work.

D Maya told him that he would do that work.

Answer A

Id 33

Question |In questions given below, out of the four alternatives, choose the one which
can be substituted for the given words/ sentence.
One who study the elections and trends in voting

A Radio Jockey

B Rhetoric

C Psephologist

D Petrology

Answer |C

Id 34

Question ' Choose the correct alternative of the following sentences.
I said to her, “It was very hot last night.” I told her

A that it had been very hot the previous night

B that it was very hot the previous night

C that it has been very hot the last night

D that it had been very hot this night

Answer

A




Id 35
Question A defect can be caused .............. negligence by one of the members of a
team.

A by

B to

C at

D in

Answer |A

Id 36

Question |What is the value of positive square root of 14 + 6v5?

14 + 65T EellcHeh JaTHeT T ATl FT 872

A 3++5
B 3-+5
C 5+5
D 5-+v5
Answer A




Id
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Question On a certain date, Pakistan has a success rate of 60% against India in all the
ODls played between the two countries. The lost the next 30 ODIs. In a row
to India and their success rate comes down to 30%. The total number of
ODls played between the two countries is
T fad a@ W ar ¢oif & o Wel v g3f veh fead #Aar
# qifehedlel &l HRA & Hhldel Fheldl X 60 Ffaerd g1 9 #Rd
q 39T 30 U e dut & SaR gR AT 3R 3R Fherd
e R &Y 30 gfaerd € 18| g ¢2if & &I Wel 30 T feard
AT AT FoT TEIT TATST?

A 50

B 45

C 60

D 30

Answer |C

Id 38

Question | A businessman’ earning by 25% in one year but decreases by 4% in the next.
Going by this pattern, after 5 years, his total earning would be Rs. 72000.
What is his present earning?
foRaT il &7 3T T a¥ # 25 gfaerd dg Sl § 3R 36T av
4 9favd e STl 81 0 YohR Ui a¥ 9edld 38HT el 3T
72000 &9 gRfT| 38T IIHATT T fohcdell 872

A Rs 10000

B Rs. 80000

C Rs. 40000

D Rs 54000

Answer C




39

Question | The smallest number of five digits exactly divisible by 476
5 3l &l DI § BIE &A1 Ad & ST 476 € FAfaa @l

A 47600

B 10000

C 10476

D 10472

Answer D

Id 40

Question | In how many ways can a committee schedule three speakers for three
different meetings if they are all available on any of five possible dates?
fhael R & teh afAfa dier 3rerer-3rerer soat & fow die Tt
HI AYA H Fhl & Afe I |t 5 Fomfaa arfr@t W 3uereyr §-

A 10

B 36

C 60

D 120

Answer |C




Id
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Question A, B and C can complete a piece of work in 10, 12, and 15 days respectively,
They started the work together. But A left the work before 5 days of its
completion. B also left the work 2 days after A left. In how many days was
the work completed?

A, BIUT CT& &HTH & HAA: 10,12,d27 15 oA & QU aX Fohd
g1 3o6iel Teh AT HIA Rl ARHA haAT| AFH A 8 & 5 G
Ugel FHIA OIS &l gl Ah HIH BIsd & 2 &1 agBalt FeT ol
&dT &,dl & fohdel f&all H @er grem?

A 4 days

B 5 days

C 7 days

D 8 days

Answer |C

Id 42

Question | In what proportion must a grocer mix sugar at Rs. 12 per kg and Rs. 7 per kg
Sugar as to make a mixture worth Rs. 8 per kg?

HS GhleR foha Iqard # 12 &9 fham arelr 3R 7 &9fd
feh.am. arell =elr & fAAT Y fob @30T &1 Hqo 8 T4 wid
fh.am.aer SU?

A 7:12

B 1:4

C 2:3

D 12:7

Answer |B




Id
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Question A tap takes 36 hours extra to fill a tank due to leakage equivalent to half of
its inflow. The inflow can fill the tank in how many hours?
ChT I dell H DG gled & HRUT Teh ool [l Tohl Pl 8 H
368¢ & ATARFT THAT AT § Sdfeh B I &AdT AT & Ml §
dl sTeT CaNT Rt &l HI T HE! TAY fohcdelr 872

A 36 hours

B 24 hours

C 30 hours

D 18 hours

Answer A

Id 44

Question |12 pumps working 6 hours a day can empty a completely filled reservoir in
15 days. How many such pumps working 9 hours a day will empty the same
reservoir in 12 days?
1299 gfafesI6ee $e A §T T R M §U STewg &t 15 feT &
GrellehY &l & @ fohcs qugee gfafeet e od gu 38 STemer
&I 12f¢eT 7 @relr Y &7

A 15

B 9

C 10

D 12

Answer |C




Id
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Question

A man standing on the bank of river observes that the angle subtended by a
tree on the opposite bank is 60°. When he retrieves 36 m from the bank, he
find that the angle is 30°. The breadth of the river is

Teh AT & TR TeT IfFd S@dr 8 b AT & fhadR 9 of9r get
¢arT Hakd HIor60fS3lt g1 ST ag fhady & 36 #Hiex fi 31T &,
ar ag <@dr & & 10130 33t &1 sIr Fr disE fhder g7

15m

18 m

16 m

OO0 W >

11 m

Answer

B




Id

46

Question |In a given circle, the chord PQ is of length 18 cm. AB is the perpendicular
bisector of PQ at M. If MB=3. Find the length of AB?
ST a1T g # PQsfar $r =$188r &1 ABUS ofd HHGIHTSTH
g, St PQa#l M f8g 9 @rear g1 afg MB=3 @&, § o AB &
oIaTs AT aiI?
A
/ .
F ‘k?r{l/u
B
A 25cm
B 30cm
C 28 cm
D 27cm
Answer B
Id 47
Question |G is the centroid of AABC. The medians AD and BE intersect at right angles.
If the lengths of AD and BE are 9 cm and 12 cm respectively; then the length
of AB (in cm) is?
MBC # G g gl AD TUT BE ATETHIU Teh @R &l FHHBIUT W
Fredr g1 afg AD dar BEFr Jes FAT: 9 JAT. gar 12 3. g
ar AB#T o€ AT ?
A 11
B 10
C 10.5
D 9.5
Answer |B




Id
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Question | If for an edition of the book, the cost of paper is Rs. 56250, then find the
promotion cost for this edition?
ITE GETh & Teh HEUT & U, HETeT H aEIa56250% Y 58
TEROT & fIT JaR dneTa ATd #{?
Printing
Binding
30%
A Rs. 20,000
B Rs. 22,500
C Rs. 25,500
D Rs. 28,125
Answer |B




Id
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Question | A hemispherical cup of radius 4 cm is filled to the brim with coffee. The
coffee is then poured into a vertical cone of radius 8 cm and height 16 cm.
The percentage of the volume of the cone that remains empty is:
Teh 3eielepR %0 foraedhr BIear 4 @A § S @ quT o &l
HIGI T SHHT AT TAT 16 AT FU YFAHR HY H 3olc fear
IAT| AF & WAl HET AT FFAAT AT 2

A 87.5%

B 80.5%

C 81.6%

D 88.2%

Answer |A

Id 50

Question | The total surface area of a solid right circular cylinder is twice that of a solid
sphere. If they have the same radii, the ratio of the volume of the cylinder to
that of the sphere is given by
fordll et T FFYUT go5 &Ah, TN & 55 &Thel & e g
gic, 3eTehl TASTTT HATT gl, Sofel AT el HT 3IAA FHT ]I
AT HL?

A 9:4

B 2:1

C 3:4

D 4:9

Answer |A




Id
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Question \Which traffic police have launched 3-D Smart Traffic Signal?
forr efher gior o 3-8 TAIC ¢eh  [@aeter  oficer foham 72
A Jaipur
o)
B Chhattisgarh
SIS
C Mohali
HigTell
D Chandigarh
Answer |C
Id 52
Question | In which city, 10th edition of the FIFA U-20 Women's World Cup will be
held?
fohe Sor & PIwT 37133-20 Afger 92 &9 & 10 aF FERIOT
AT foRar Srwan?
A China
dleT
B Nigeria
C India
AR
D Qatar
CISLy
Answer B




Id

53

Question |According to Third Bi-monthly Monetary Policy, 2019-20, What is current
Bank Rate?
g gfa -arf@e Alfes Aifd , 2019-20 & 3FTER, doA dh &I
T 87

A 5.75%

B 5.15%

C 5.40%

D 5.65%

Answer D

Id 54

Question |Who is India’s High Commissioner to Pakistan?
qIfRET H HRA FI 3TIPFT HloT §7?

A Ajay Bhushan Pandey
ST §§UT 9IS

B Anup Wadhawan
o9 aYTdeT

C sanjay Mitra
gor T

D Ajay Bisaria
3T e

Answer D




Id
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Question \Which day was observed as World Biofuel Day?
fora feaT I favg Sig suar fGaw & & H A«ATr 737?
A 7 August
7 3T
B 9 August
Q31 Fd
C 10 August
1037918
D 8 August
8 &
Answer |C
Id 56
Question |Which country has emerged the world’s second largest scrap importer?
HITHT S GfAAT T G FIH F3T ThY IITAD &1 T &7
A Turkey
GED]
B India
AT
C South Korea
gfayor T
D Japan
KISIGE
Answer |B




Id
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Question 'Who has launched e-version of Rozgar Samachar?
fraer SR AR &7 $-TE0T dicd [ohar 31T 872
A Harsimrat Kaur Badal
AT FR agar
B Thawar Chand Gehlot
U T gl
C Subrahmanyam Jaishankar
GIEATTTH ST
D Prakash Javadekar
FEOEIIC IECTS
Answer D
Id 58
Question |Which day was observed as International Day of the World's Indigenous
Peoples?
5T g7 Fr faeg & Tacell del & AR Gad & &9 & FAATm
ST 872
A 6 August
6 3HIEd
B 7 August
7 3IET
C 9 August
9 HIrEd
D 10 August
10 3ITET
Answer |C




Id 59
Question 'Which State Government has signed an MoU with Vikram Sarabhai Space
Centre (VSSC) to develop Space Park?
FT o0 R o T I Thld Fa & v Oma aRmes
TOg deX (Groguadr ) & 1Y Teh HESIar A9 9 g&aier e
g ?
A Kerala
el
B Maharashtra
HeISg
C Andhra Pradesh
3T geer
D Telangana
eTaTTaT
Answer |A
Id 60
Question 'Which day is observed as International Youth Day?
fordy feeT 1 &Y el WSS ar fGaq & &7 H FHART ATl g7
A 9 August
9 3HIrEd
B 12 August
12 3ITEd
C 6 August
6 3HIEd
D 8 August
83ITET
Answer |B




Id

61

Question | In which city, 20th Edition of the International Indian Film Academy (I1FA)
Awards will be held?
fore ereY H AUSET HRAT fhed Pl (ITSINSTHT) JERRT
I 20a7 FEROT AT fhAT SATT?
A Dehradun
SEee
B Kolkata
hleTenTdl
C New Delhi
75 feeetr
D Mumbai
Heg
Answer D
Id 62
Question |Which sports body agreed to come under the ambit of the National Anti-
Doping Agency (NADA)?
AR fohhe ahglel d15  (SIAHINTS) SA2leTel UT-3IT0eT TSTHT (<73T)
% R H 3T H JIR gl I
A IOA
ST
B SAl
THUITS
C BCCI
CIR IR RIS
D TTFI
SIETTH3TS
Answer |C
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Question \Who has become the first Indian to win a world title in motorsports?
HleT Al TAICH H fAeg f@Ae Sfaar arell ggell HRAT &1 73
g7

A Vijaya Lakshmi Pandit
fasrar ora#r 9fsa

B Chandrima Shaha
TG AT

C Rani Rampal/

AT JHITST

D Aishwarya Pissay
vegar e

Answer D

Id 64

Question |A. Shankar Rao has been appointed as Director General of Police of which
state?

T A Td Y g T &1 731 gfag Agifaeers Ay fohar
T 87

A Uttar Pradesh
3T HeRo

B Madhya Pradesh
HqET Tcer

C Sikkim
IIECT]

D Andhra Pradesh
3T 9cer

Answer C
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Question \With which company, Reliance Jio has partnered for cloud infrastructure?
fhg e & 1T Remad [T & Fo138 ShiecFR & [T
qrsieiT #r g7

A IBM
TS H

B WhatsApp
cglcHavy

C Google

LN

D Microsoft
HISShIEIFC

Answer D

Id 66

Question |Women's T20 Cricket has been included in Commonwealth Games in 2022.
It will held in which country?

ATGST € 20 Tohahe FI 2022 & TscHS Well H eMiAT Thar Ir=m
gl I8 g & & 3mafaa gem?

A Birmingham, England

B Tokyo, Japan
SIrY, SATITeT

C Paris, France

D Beijing, China
ST |, A

Answer |A
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Question \Which state has been ranked first at the India Child Well-Being Index?
HRA ST HedIoT Fashieh H fhd T &I TUH T f&ar am=r §72
A Uttar Pradesh
3 Yo
B Kerala
el
C Madhya Pradesh
HqET ge2r
D Andhra Pradesh
3T ISer
Answer |B
Id 68
Question |Prime Minister Narendra Modi announced 'Jal Jeevan' mission to make
drinking water available to all households. How much amount will spend on
it?
TRITAHAT oG AGT of T3 TRT F Uil &7 Uil 3T I & folT
‘ST SitaeT AT & givu 7| 59 W fohder IR @I ghei?
A 1.0 lakh crore
1.0 Mg IS
B 1.5 lakh crore
1.5 9@ IS
C 2.5 lakh crore
2.5 TG IS
D 3.5 lakh crore
3.5 o IS
Answer D
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Question 'Who is the writer of a book on Jammu & Kashmir' story from 1889 to 2019
"Kashmir's Untold Story: Declassified"?
1889 & 2019 T STFH-FRHR HI Fglell W Tah fhded ,HHAR
HeAcles TR BFenfawEgs” & a@® @i g7
A Igbal Chand Malhotra
Shdlel TE Hogal
B Maroof Raza
HATE®D TST
C Arundhati Roy
zufa I
D Both 1 and 2
gt 1 3k 2
Answer D
Id 70
Question 'Who was conferred with Vir Chakra on Independence Day?
fraer Taaaar fGag W dR I O GFATAd fohar 1=am?
A Binod Kumar
foetle AR
B Arvind Singh
3Rfde e
C B K Sinha
T & T&egr
D Abhinandan Varthaman
HAAresT AT
Answer D




Id
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Question \Who is the writer of a Book on Sridevi, "Sridevi: Girl Woman Superstar"?
AT T Teh fohelle, “Hedl: T gHT FREER" & AGeh el § ?
A Boria Majumdar
SIRAT ASFHER
B Arun Tiwari
3507 faan
C Satyarth Nayak
gy g
D Sanjaya Baru
ToraT aT%
Answer C
Id 72
Question |Who has launched the country's largest sanitation survey Swachh
Survekshan Grameen-2019?
fohae ¢2r ol He J3T TATSdl AJ&TUT TaT HAEToT AT -2019
A& fomar g2
A Gajendra Singh Shekhawat
ol &g d@rad
B Prakash Javadekar
YTl SITAsh
C Dharmendra Pradhan
G T
D Hardeep Singh Puri
geT g i
Answer |A
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Question ' Which state government has decided to launch a new initiative ‘10 Hafte, 10
Baje, 10 Minute — Har Ravivar, dengue par war’?
fFg U WHR & T a5 ggd ‘10 §Fd, 10 g1, 10 BeAe- &
AR $9] W R’ Y& el HT hfelr fhar g2

A Uttar Pradesh
ESTECLE)

B Pondicherry

C Laddakh
elcarg

D New Delhi
g feeel

Answer D

Id 74

Question ' On which day, First death anniversary of former Prime Minister Atal Bihari
Vajpayee was observed?
forg feoT @l qa gursH= e fogRY arerddt & ggelr quafaed
AT 15 A7

A 14 August
14 3ITEd

B 15 August
15 3ITET

C 16 August
16 3ITEd

D 17 August
17 3ITEd

Answer C




Id
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Question |What is the name of world's biggest project for teacher training under which
more than 42 lakh teachers will be trained?
forerer gfretor & forw faeg & ged 981 aRASTAT F1 1H 41 g,
9% dgd 42 arg ¥ 380« et #r giRfaa frar sreem?
A STRIVE
Tersd
B SWAYAM
TagH
C NISHTHA
forsaT
D SANKALP
Hoheq
Answer C
Id 76
Question | In which state, first Central Institute of Chemical Engineering & Technology
(CICET) will be set up?
fFE T & ggar e Tafas selifaaier 3R dioeaifdr
e (A3 Tafia fohar smeen?
A Uttar Pradesh
ELCEeH)
B Madhya Pradesh
HqET Tcer
C Gujarat
R
D Andhra Pradesh
3T 9S2r
Answer |C
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Question | In which city, Union Minister of Health and Family Welfare Dr. Harsh
Vardhan inaugurated of Atal Bihari Vajpayee Institute of Medical Sciences?
fra gt # FET Ty AR 9RaR Fedmor A 7 g¥ade o
3o fogiY araralt Rfdcar fasae G¥dTeT #1 3cared fHar?

A Dehradun
SEee

B Kolkata
hleTenTdl

C Mumbai
iSs]

D New Delhi
75 feeetr

Answer D

Id 78

Question |Which state government announced 32% reservation for STs, 13% for SCs
and 27% for OBCs?
forg T5T o TEE & faU 32%, Tadr & v 13% 3R JHeEr &
forT 27% 31R&TOT T G9uT fr g7

A Gujarat
ITolld

B Himachal Pradesh
feaATger gger

C Madhya Pradesh
HqET Tcer

D Chhattisgarh
SIS

Answer D
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Question | In which city, World Skills International Competition was held?
fore ereX & faeg e JiaRsgT gfadfadar smafara g7
A Tokyo, Japan
SIFT, STt
B Kazan, Russia
halled, &H
C Beijing, China
AifSter, AT
D India, New Delhi
AR, 13 feeol
Answer |B
Id 80
Question \Which state government will set up Atal Bihari Vajpayee residential schools
for children of labourers in all 18 divisions of the state?
I TeT AR ToT & Tl 18 Al A Holgy & szl & fav
el T9gRT araadY Ay facarery wa1iud Sei?
A Uttar Pradesh
3T HeRo
B Rajasthan
T T
C Chhattisgarh
TG
D Meghalaya
AT
Answer |A
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Question | The Best method to dry hands after hand wash is
1Y Ul & dlg gl ol gEIA &l o e fafer g -
A By dry air
Y FaT &I
B By hair dryer
g3 SRR <RI
C By common towel
AdStfeie difelt @RT
D None of the above
ST & FE o oA
Answer A
Id 82
Question | The Place where RBCs are produced is
dg TUT @I, dTel Y&Fd HIfARTT 3T Blcl & -
A Liver
apd
B Blood
&Fd
C Testes
EAl
D Red bone marrow
CICECITSIE )]
Answer |D
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Question |Universal precautions include
Araifeter Araefaal # aifde § -
A Gloving
CTdTel Ugalel
B Gowning
M3 el YGodadl
C Hand washing
grUl &l &
D All of the above
s o
Answer D
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Question | The Responsible Causative organism for ‘HIV” is
HIV& faT fSFAeR W fawmor g -
A Human immune deficiency virus
TgHA $FgeT SThRITHr aRa
B Sarcoptes scabies
AThfCeH Ehalal
C Neisseria gonorrhea
AR =Rar
D Treponema pallidum
SUIAHAT UToisH
Answer A
Id 85
Question | ‘Preterm baby’ means that Newborn
qr TH & A7 HA g, AdSd STelh -
A Born before 37 weeks
fSTEehT STea 39 FFAH Teel G & |
B Born before 40 weeks
fSTEehT STea Yo FHAH Tgel §3T & |
C Born before 42 weeks
fSTEhT STea ¥ FFAH Teel §3T & |
D Born before 47 weeks

fSTEhT STea Yo gFA Teel G & |

Answer

A
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Question | ‘Simplified Partograph’ should be used
Tl It &1 3TANT LT ARV -

A For every female in labor

&Y Afgel & yaaraedr &

B For a female at risk to develop a complication
5| Afgar A Sfea U 3cdeT gl T TRT & |
C On the choice of nurse
A & faereurTar
D Preanant woman undergoing cesarean section
Isyadr Afger SHer TR T I ATRAT Il &T 8T |
Answer A
Id 87
Question | According to Freud, which component of personality operates according to
the reality Principle
IS & 3TN 'SATddcd I HiTdl Uceh 'aedideral NG &
3TER HaTferd gl § -
A ID
k) i
B Eao
samr
C Super Eao
g g
D Trust
e
Answer B
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Question | ‘'VDRL Test’ is done for the Diagnosis of
AEAARTA (VDRL)CFE ' Arfaf@a & & forg W91 & aikeqor &
forw fomam Smar & -

A Gonorrhea
AT

B Svphilis
Rrwferd

C Tvphoid fever
PSS fthegt

D Diphtheria
IERRITE)

Answer |B

Id 89

Question | Which bone is also known as ‘Collar bone’?
T &3 I 'HleR Sl o A7 & HT AT S & -

A Clavicle
Felllcgahel

B Scapula
R

C Radius
3ra

D Humerus
egay

Answer |A




Id

90

Question | ‘Koplik’s Spots’ symptom is associated with
‘PIafcleh TATCH HI A&7 HeATaf@d & Tafad g -
A Measles
fAsTed (@)
B Diphtheria
[ESRITEIN]
C Chickenpox
Rsadied (Iae)
D Pertussis
RS (Frell Ti)
Answer A
Id 91
Question |Chemical substances released by an organism that influence the behavior of
other individuals of the same species are called
T Siid GRT 3cdtoid IAdfae qerd Sir 38T THA Tollide 31ed
Shat & 3meRor & wenfad &ear § -
A Pheromone
AT
B Insulin
gegfor
C Androagen
3iegtolel
D Steroid
LSAIEE
Answer |A
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Question

Which tablet is given under ‘Deworming program’?

TSATTHT WA & AT hieTdl el &1 STl & -

A Paracetamol
R

B Cetrizine
AT

C Amoxvcilline
e

D Albandazole
3edessiiel

Answer D

Id 93

Question |Medical manaaement for increased intracranial pressure include
‘SeThia3Tel MR A I & fAT naegs RfFcar weay Hefafad
# @ g QY -

A Administer mannitol
HiIcTol ¢l dTRT |

B Administer half-strenath saline
Y- dTell Tellsod gell dMRT |

C Administer plasma volume expanders
TATST SEIYH TFHUTST Sl AT |

D Reduce the number of breaths in ventilator
dfeeled H 0 I T&AT A &Y |

Answer |A
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Question

“Five clean Practices” under strategies for elimination of Neonatal tetanus
includes all, Except

qrg Faeodl I AT dasia RET & av Seare fdaw
3eee & fov AeAfafld & @ e oisat arer g3lt o anfde
¥

A Clean surface of the delivery
Jdd o iU 39cs¥T Adg TaTo glell d1ey |
B Clean hands of the attendant
TR & gy e g IR’ |
C New blade for cord cutting
AT Fead & AT Y S8 HT IYANT AT AR |
D Clean airways
TIes argATT glell T |
Answer D
Id 95
Question | The Expanded form of ‘ESR’ is
‘ESR’ &l faEaTRd &9 § -
A Electrolvte Sedimentation Rate
Solaglalee AfsHe T
B Enzyme Svnthesis Rate
TasA B=afay T
C Ervthrocvte Sedimentation Rate
tRyrarge afsacersT 7T
D Ervthrocvte Svnthesis Rate
tRyESe B-Afad
Answer C
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Question | ‘Bagassosis’ is an occupational disease of the lungs caused by inhalation of
'FIGIAT Teh eTaqTT & HRUT 3c9ea] glaidrell 3T g, ST
ATaf@a & 92ads & FHRUT 8T § -

A Cotton
L5

B Jute
v N

C Suaarcane dust
T T AR

D Coal
I

Answer C

Id 97

Question |A drua used in the treatment of Pediatric AIDS is
TR vsa d AeAfafad e o1 3uter fhar o & -

A Procaine penicillin
et U

B Nevirapine
ATaeT

C Azithromycin
KN IE P R T

D Acyclovir
IAIFAIAT

Answer B




Id 08
Question | The active inaredient of Cidex is
g 3wt 1 afeT ges § -
A Formaldehyde
qiuﬂﬂui(’gaég
B Dettol
C Savlon
degeliel
D Glutaraldehvde
JE;IREIIi(%EIgg
Answer D
Id 99
Question | The diluent used for BCG vaccine is
'BCG afFa@aT &1 digdr &H il & oT Aeafali@d &1 39AeT har
AT § -
A Distilled water
Sfrres of
B Normal saline
SITeel TellseT
C Dextrose solution
SFESIS] AIegAA
D Rinaer lactate
?o Y E
Answer B




Id 100
Question |Which is Not a Dry Cold application?
fArfaf@a # @ sladr 3 -Hies ihar 81 & -
A Ice pack
IEH Y&
B Ice bag
SH o
C Cold compressions
Fleg HIFIAT
D Ice cradle
3T Hhed
Answer C




